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1 WITWTWT 6 1CALL
2 WTWTWT 6 1CALL
3.W... 1 32 -

4 ... 0 34 -

5 WTWTWT 6 1CALL
6 W..T.T 3 23CALL

7. TWT.T 4 17 CALL
8W..W. 2 29 -

9 WTWTWT 6 1CALL
10WTWTW. 5 15CALL
11 WTWTWT 6 1CALL
12.T.WT 3 23CALL
13WTWTWT 6 1CALL
14 WTWTWT 6 1CALL
15 WTW.W. 4 17 CALL
16..... 0 34 —



7 WTWTWT 6 1CALL
8..W. 1 32 -

9 .WT.T 3 23CALL

O W.WT.T 4 17CALL
1 WITWTWT 6 1CALL
2 WT.T.T 4 17 CALL

3 WTWTWT 6 1CALL
5.T.W. 2 29 -

6 WT WTWT 6 1CALL
7W...WT 3 23CALL

8 WIT WTWT 6 1CALL
9 WTWT.T 5 15CALL
30.T...T 2 29 —

31 WTWTWT 6 1CALL
33 W.WTW. 4 17 CALL
34 W.WT. 3 23CALL
35 WTWTWT 6 1CALL
36 . TW.WT 4 17 CALL
37.T.TW. 3 23CALL
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1 WTWTWT 6 1CALL
2W..... 1 18 -
5WTWT.. 4 8CALL
6 ... 0 21 -
7TW...W. 2 12 CALL
9 WTWTWT 6 1CALL
0.WT. 2 12CALL
1..WT 2 12CALL
2.... 0 21 -
3.T.TWT 4 8CALL
4 TW..T 3 11CALL
5.... 0 21 -
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WT WT WT 6 1CALL
0 21 -

e 0021 =

WT WT WT 6 1CALL

. T 2 12CALL

W.W.WT 4 8 CALL

~.WT 2 12 CALL

e 0021 -
WT WT WT 6 1CALL
~We 118 -
WT WT WT 6 1CALL
w1 18 —

0 21 -

WT WT WT 6 1CALL
WT.... 2 12 CALL
0 21 -
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H&5 WT WT WT #5452 IEAT &
1 WTWTWT 6 1CALL
5WTWT.. 4 5CALL
7 ... 0 10 -
9W..TW. 3 7 —
0 0 10 -
1 0 10 -
3...T 1 8 -
4 0 10 -
7TWTWTWT 6 1CALL
1 . TWTWT 5 4CALL
2 0 10 -
3 0 10 -
6 0 10 -
8.W... 1 8 -
1 WT..WT 4 5CALL
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35 WTWTWT 6

36 ... 0
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HE S WTWTWT W T

10 —

1 CALL

1222213 1.03.0 2
5666566 6.06.0 6
17114421 2010 1
21353344 404.0 4
31445655 5.05.05
35531132 3.02.0 3
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